Welland Gouldsmith School
Class 1
Arithmetic

Problem Sums based on Addition :

Recapitulation :

The teacher explains the problem sums with the help of three different stories. She explains the
three key words that are — ‘In all’, ‘Altogether’ and ‘Totally’ to help them find out the answers to the
problem sums.

Worksheet :
1) Priya buys 36 toffees and 42 samosas for her birthday party. How many items does she buy

in all?

2) Inaclass there are 34 boys and 50 girls. How many students are there in the class
altogether?

3) Ravi painted 345 kites red and he painted 223 kites blue. How many kites did he paint
altogether?

4) Inan orchard there are 133 apple trees and 345 mango trees. How many trees are there in
all?



